ATTACHMENT POINT
STAINLESS STEEL
PLAIN FINISH

W
%@ 4 " ZIRIIRGOAL

\ 17 7/32

\ ] .
\ 13 5/8

SN )/
\ WEIGHT

N CONCRETE

— COLOR - GREEN
' 53/4 - 17 1/2

FEATURES:
1) USE:
9B51 AND 9B54 SHELTERS
2) MATERIAL:
CONCRETE / STEEL - WEIGHT / HARDWARE | - s 140 Pacific Drive
R @ e, W KWIKGOAL o<
WEIGHT - PAINTED GREEN / PLAIN STANLESS STEEL \/ — prosection (VX Pa. 18951
4) INCLUDED: UNLESS OTHERWISE SPECIFIED | pate- 10B4607
WEIGHT (6) This item is the confidential | Drawn By: JWillenbecher
ATTACHMENT HARDWARE (4 ATTACHMENT POINTS) erc{)pert)é of KWIK gof\’- LTD. [pate: 8/3/2020 Desc:
) eproduction or duplication -
5) ASSEMBLED WEIGHT: 660 LBS. without the express written Sheet: 1 of 3 ég%ﬁrgBRL\évgll—?;JrEgg
consent of KWIK GOAL LTD. | Revision #:
is strictly forbidden. Cad File: 10B4607.idw

© 2020 Kwik Goal Ltd. REV 20190731



FRONT VIEW SIDE VIEW

ATTACHED TO SHELTER ATTACHED TO SHELTER
ki 7 - 63/4—] |- —~ 7=
10 3/4
T e =——
| B 11 S
1 i i i i i i * |+| N
I I I I I i | 1 \
| N\
N I I I I I i | | \,
i I I I I I I | ] \
T e e i 3
| e | |
| I I I I I I | i |
i i i i i i I § ] “
' I N N N B B |
’;ﬂ 1 I I I I I | |

S

N NI NI

Y
Y
Y
Y
N
&
¢
¢
&
¢
X
X
/\\\/ i

N

XN 7
AR A R AN
/§¢§4y§x§éy§A\Av%%@&y%ﬁ@éy%ﬁ@ényQ \4y§x§4w@K@Qy§/
NN SROUND S N N N N NN I NN BROUND DS DS
NN N N N N N N N N AN N NN N AN NN QUGG
\4N?y%4N&y?%%&N?y%é&?y?ﬁ%&&?x%&&?x? \4&§%>4x§y94x

' / ® 140 Pacific Drive
THIRD
St W BKWIKGOAL
| PROJECTION |V __ r Pa. 18951

DIMENSIONS ARE IN INCHES Approved By: Drawing #:
UNLESS OTHERWISE SPECIFIED | pate- 10B4607
This item is the confidential |Drawn By: JWillenbecher
Prspe”{jof KWIK go,qu LTD. [pate: 8/3/2020 Desc:
eproduction or duplication
without the oxprese wiitien | Sheet_ 2 of 3 ANCHOR WEIGHT FOR
consent of KWIK GOAL LTD. |Revision #: PORTABLE SHELTERS

is strictly forbidden. Cad File: 10B4607.idw

REV 20190731

©) 2020 Kwik Goal Ltd.



PARTS LIST
PART# | QTY DESCRIPTION
TZ48 2 7/16 X 2-3/4 HEX BOLT
FRONT ATTACHMENT TZ171 2 7/16 FLAT WASHER
(2 PLACES) UZ1682 6 ANCHOR WEIGHT FOR PORTABLE SHELTERS
@ @ TZ380 2 7/16 x 6 HEX BOLT
TZ422 6 7/16 FLAT WASHER
- ] TZ47 4 7/16-14 LOCK NUT

A
/

uz1682

REAR ATTACHMENT

(2 PLACES)

| / ® 140 Pacific Drive
THIRD

1. (KWIKGOAL ==

\J '\I PROJECTION ¥ 2 2r Pa. 18951

DIMENSIONS ARE IN INCHES Approved By: Drawing #:
UNLESS OTHERWISE SPECIFIED | pate: 1 OB4607
Uz1682 This item is the confidential |Drawn By: JWillenbecher
property of KWIK GOAL LTD. [ pate: 8/3/2020 Desc:
Rgproductlon or dupllca}tlon Sheet: 3 of 3 ANCHOR WEIGHT EOR
without the express written PORTABLE SHELTERS
consent of KWIK GOAL LTD. | Revision #:

is strictly forbidden. Cad File: 10B4607.idw
© 2020 Kwik Goal Ltd. REV 20190731




